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for any number p >0. This shows that the logarithmic function approaches ∞ 

more slowly than any power of x. 
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78. The figure shows a sector of a circle with central angle θ. Let A(θ) be the area of 
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Without loss of generality, let the radius be 1. 
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80. For what values of a and b is the following equation true? 
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(a) Use the definition of derivative to compute '(0)f  

(b) Show that f has derivatives of all orders that are defined on R.  
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 By induction, the derivative of each order for f exists.  


